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Needs["'Graphics ™ ImplicitPlot™']
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ImplicitPIot[gz— + %2— ==1, {X, -4, 4}, {y, -3, 3}, AxesOrigin -> {0, O}]
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- ContourGraphics -
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ImplicitPIot[§ -3 =T 1, {x, -8, 8}, {y, -6, 6}, AxesOrigin -> {0, 0}]
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- ContourGraphics -

m Asteroid



curves.nb

ImpI|C|tPIot[Abs[x]’or +Abs[y]’§ =25, (X, -2, 2}, {y, -2, 2}, AxesOrigin -> {0, 0}]
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[
o X2 y2 %2 yz o
ImpI|C|tPIot[{§ + o5 == 1, >+ ==1}, {x, -4, 4}, {y, -3, 3}, AxesOrigin -> {0, 0}]
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Needs["'Graphics Graphics™]
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PolarPlot[r =2 (1 +Cos[t]), {t, 0, 2x}]

- Graphics -

PolarPlot[r =2 (1 +Cos[31t]), {t, 0, 2}]

- Graphics -

m Lemniscate



curves.nb

PolarPlot[r = 2 VAbs[Cos[0.5t]] , {t, 0, 2x}]
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PolarPlot[r = 2 VAbs[Cos[t]] , {t, 0, 2r}]
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PolarPlot[r = 2 VAbs[Cos[3t]] , {t, O, 2x}]

- Graphics -

m Foliumof Descartes



curves.nb

ImplicitPlot[x® + y® - 6Xxy =0, {X, -4, 4}, {y, -5, 5}, AxesOrigin -> {0, 0}]

- ContourGraphics -

m Cycloid

ParametricPlot[{(t-Sin[t]), (1-Cos[t])}, {t, O, 4}, AspectRatio -» Automatic]
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b=2;a=3b;

a+b) t

ParametricPIot[{(a+ b) Cos[t] - bCos[ ( - (a+b) t

]. (a+b) Sin[t] -bSin|
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{t, 0, 2n}, AspectRatiOaAutomatic]

- Graphics -
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b=2;a=2b;
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ParametricPIot[{(a+ b) Cos[t] - bCos[ ( - (a+b) t

]. (a+b) Sin[t] -bSin|
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{t, 0, 2n}, AspectRatiOaAutomatic]

- Graphics -
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b=2;a=b;
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ParametricPlot[{(a+b) Cos[t] - bCos| ], (a+b) Sin[t] -bSin]|
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{t, 0, 2}, AspectRatiOaAutomatic]

- Graphics -
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b=2;a=10b;
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{t, 0, 2}, AspectRatiOaAutomatic]

ParametricPlot[{(a+b) Cos[t] -b Cos[(—b)—E

- Graphics -

m Hypocycloid

b=2;a=3b;

-b) t
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{t, 0, 2}, AspectRatio - Automatic]
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ParametricPlot[{(a-b) Cos[t] +b Cos| ], (a-b) Sin[t] -bSin| - 1}

(a-b) t
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{t, 0, 50 7}, AspectRatio - Automatic]

- Graphics -
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b=2;a=10b;
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ParametricPlot[{(a-b) Cos[t] +bCos[(a—_b——] ., (a-b) Sin[t] -bSin]
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{t, 0, 2}, AspectRatiOaAutomatic]

- Graphics -
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ParametricPlot[{2 Cos[t]%, 2Sin[t]%}, {t, 0, 2}, AspectRatio » Automatic]
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PolarPlot[{r=1+Cos[t], r=1.5+Cos[t], r=0.5+Cos[t]}, {t, 0, 2}]
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PolarPlot[2Sin[10t], {t, O, 2xn}]

- Graphics -

m Logarithmic Spiral
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PolarPlot[1.1%, {t, -10, 20}]
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- Graphics -
m Spiral of Archimedes

PolarPlot[2t, {t, -10, 15}]

- Graphics -

m Parabolic Spiral
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PolarPlot[2t, {t, 0, 20}]

- Graphics -

m Litnus
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PoIarPIot[T_—, {t, 0.1, 30}, PlotRange » All]
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- Graphics -




